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We are concerned for two Shveeree - I WD 1RO

Overview

There was a v3 found in the 7"°2 of X117 27, which was written in the city of *1"w.
However X117 27 disallowed this v3 to be used because there is a concern perhaps
there are two »Mw. Our MooN discusses, therefore, how 103 in general can be valid
according to 7°RX» .

mooin asks:
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And if you will say; therefore, according to 7' how can any person divorce his
wife, according to »''9 (who maintains *n73 72°nn 1Y), for it is not Y212 79017 -
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Since 71"7 is concerned for two >Mw?!

nBoIN answers:
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And one can say that generally, since it is not established that there are two cities
with the same name, we are not concerned and it is properly considered as 51

121n2; nevertheless if the v was lost, we are concerned for "1 "1 even if 1M XY
(therefore 7"1 was concerned, but generally one need not be concerned).

Summary
The concern of > "1 is only if it was lost, otherwise there is no concern if 1217 X5,

Thinking it over

N0 maintains® that a "W which was lost allows us to be suspicious ( 70°12 2n3 RAW
"Wn 7Y 11 X71). However here, why is there is a difference whether it was lost (where
"MW 3w 11°Wn) or where it was not lost (where 1w n 89)?!14

! See previous X311 71"7 '010 (on the '} TnY) footnote # 8 & 10. According to »"7, who maintains >n7> 1"y, when one
reads the v3, all the details (including the names of the parties, the place and time, etc.) must be clear, from just reading
the v alone.

2 When the name of city is written in the U3, we cannot be sure whether this indeed is the city where this couple lives
or perhaps it is from another couple (with the same names) in a different city with the same name, and therefore is not
valid for this v3. We do not have this information just by reading the v3.

3 See ®7171"72,2> '0n (TIE footnote # 6). We assume the reason it was lost is since it was not executed properly ( 203
WN Y 101 891 10°12), the maker of the ww was not careful with it; how does this apply to *mw "1w?!

4 See 17V in TN WO XN # 41.
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